Snail Maths

Complete the mental maths calculations and work your way around the trails!
Green - Mild

Purple - Spicy

Pink - Hot

Time yourself and see how quickly you can complete it!

Snail Maths

4x11=44-40=x9= 0]+ 150 = []-159

x8=> LU+130 = [-47 = [-112

Can you get to the end of the snail’s trail?
The answer from the first number sentence
becomes the first number in the second
number sentence. Start at 4 x 11= 44, The
first one has been done for you.

[]
)
00
N

12 = 20
=9 -0«

[

i

]
+t0-8 - O« SL+0«Lx []
C—He=yel+0 <=l X< 8b— [ < L9

t ey X[Oe 8l -«




Snail Maths

3564-782=2782-2719=>01+7 =[x 2= []

+qQe[]+3=2x8=>[1+6=>[x8=> []

Can you get to the end of the snail’s trail? The
answer from the first number sentence becomes
the first number in the second number

sentence. Start at 3564 — 782 = 2782. The
first one has been done for you.
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Snail Maths
452 - 2=>226-118=> [1+9 = [x4=>01+6
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